Mr R’s Homework
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Proof:
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Now we use the Limit of a Product Thm/ If the limit of f(x) = L and the limit of g(x) = M, then 
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(ie, “The limit of the product is the product of the limits.”)
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Just to sound really mathematical, we’ll use the 
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Where ‘0’ is the limit of (f(x)-f(a)) as x approaches ‘a’, but…



For each epsilon, we have the same delta such that 
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This also means that: 
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tinuity at a point, .

xa

fxfaxa

®

==

 QED

Contrapositive (
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)/ If f is not continuous, then f is not differentiable.
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” An implication and its contrapositive are equivalent.

(We proved this with truth tables in Precalculus!)

Dangerous Converse (
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)/ <We’re not going to even say it since it’s not true!>
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